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1. @ < B2 & HRAE £ &(realism)$t B & E £ (liberalism)z
ﬁ"“  HRARARERZ E BN - B h o AT EMRER)EF
— Rz BhMA?ERHRERZFHEMATFEREHE

z)'fi B X REMEREAEE - (25 7))

2. B %44 (national security) 89 i & €& M BB KB4 - RAEeER
RARGHOZEHE  FRANERALHBERTLANESY
HA LR A AL B RS HMII90 FABABE AREA
%5 % 2 (human security) Z A + HRARR? T L REF T 28
T £ HIERAFE911 B BB E & (terrorism)d 847 8y 3 B BAL €
S RRAZEE - THEBHERI FHoTEHEEREEBRZH
FHOEMB2Q5 )

3. PR OMBATR Ep:stemology)ﬁﬁﬁﬁiﬁfﬁ{ﬁgﬁiﬁ
(Post-positivism);Z FEIzEH . ° (25%)
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1. The following is a quotation from Professor Adam Przeworski and Henry Teune,
-who introduced tow general approaches to the comparative method, i.e. the “most
similar systems” design‘and the “most different systems” design. They argued
that most scholars of comparative politics “use the “most similar systems”
design: Investigators take two systems that are, for the most part, similar,
and subsequently study differences that exist between the two basically
similar systems. They may then, observe the impact of these differences on
some other social or political phenomenon. These studies are based on the
belief that “systems as similar as possible with respect to as many features as
possible constitute the optimal samples for comparative inquiry.” Please
elaborate and explain this quotation by using two or three countries in the
Asia-Pacific region. (You are welcome to answer this question in English but you
also have the legitimateéfii;fi:ght to answer this question in Chinese.) (25%)

2. Please compare and contrast the definition of institutionalism and
neo-institutionalism? And also, please use an institutional approach to interpret
comparative politics. (You are welcome to answer this question in English but you
also have the legitimate right to answer this question in Chinese.) (25%)

3. Since 1987, the interaction of state and market has been identified as a key factor in
promoting the development of economic relations across the Taiwan Strait. Please
utilize the interaction of state and market as a conceptual framework to analyze and
explain the changing patterns of Taiwan'’s trade and investment policies toward
mainland China. (25 %) (please answer only in English)

4. N JEFHIE (human development)u;uzmﬁ E% Aﬁi‘?;‘(ﬁé)‘éu;ﬁ  EEEE e
RETERIEE G- Hﬁﬁﬁ@]?‘ 2000 FEATHEZERTT T4E 2R B (Millennium Development
Goals) » FE 7258 T Bl B R N SRR PR U B SR « SRSt
M5 (development theory)it %, - et s g NI A KR 3 AT e A L B
B DR BRI S TR AR T S B 2 (25 %) '
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(Z) - FBUEGFA  NEFAKER - HIRRATHL - TSRS E
IASKER > feadi - EEL - REBRESEE TERFSAR - &5
H R e S TR | BURF AT DRI— - AEE - ETKES
- RBIREHGCE - KBES S $M4E%% (autonomous investment) 2255
4% B (induced investment)* 552> BIRLE RUEIYE NBLE #1 LIS 5 B R
R B4 BEEENTS - HESENEEREEWE - S EREN
R 7 (25%)

() B 1978 S HEARBIGIEDRCEBIRLE - E LR
(internationalization)F1E 5 4544k (decentralization) » B 3552 EHES) T B A fE 4R
HERENTEE T FHEEE - 25%)

(F4) The reform of State-owned Enterprises (SOEs) has been indeed the most crucial
and complicated issue in mainland China ever since 1978. What are the major impacts
of SOE reform in mainland China ? Based on your own speculation, please evaluate

' these impacts from political, economic and societal dimensions. (Please answer only
in English, 25 %)
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1.(10%)This is an externality problem.
Suppose that a beekeeper is located next to a 20-acre apple orchard. Each hive (¥ 45) of
bees is capable of pollinating 1/4 acre of apple trees, thereby raising the value of apple output
by $25.
a. suppose the market value of the honey from one hive is $50 and that the beekeeper’s
marginal costs are given by .
MC=30+0.5Q
Where Q is the number of hives employed. In the absence of any bargaining, how
many hives will the beekeeper have and what portion of the apple orchard will be
pollinated?
b. What is the maximum amount per hive the orchard owner would pay as a subsidy to the
~ beekeeper to prompt him or her to install extra hives? Will the owner have to pay this
much to prompt the beekeeper to use enough hives to pollinate the entire orchard?

2. (20%) A carrot monopolist can produce at constant average (and marginal) costs of
AC=MC=5. The firm faces a weekly market demand curve for carrots given by

Q=53-P

a. calculate the profit-maximizing price-quantity combination for this monopolist. Also
calculate the monopolist’s profits.

b. Suppose that a second firm enters the carrot market. Let qa be the output of firm A and
gg the outpiit of firm B.  On the assumption that firm B has the same costs as firm A,
caleulate the profits of firms A and firm B as function of g4 and ga.

c. Suppose (as in the Cournot model) that each of these two firms chooses its level of
output so as to maximize profits on the assumption that the other’s output is fixed.

~ Calculate each firm’s reaction function.

d. On the assumption in par c, what is the only level for qa and qg with which both firms
will be satisfied? And what will be the market price of carrots and profit for each firms?
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L. For a firm in a perfectly competitive market, the price of the good is always
a. equal to marginal revenue.
b. equal to total revenue.
C. greater than average revenue.
d. All of the above are correct.

2. Which of the following statements is (are) true of a monopoly?
(i) A monopoly has the ability to set the price of its product at whatever level
it desires. ' ‘
(i) A monopoly’s total revenue will always increase when it increases the
price of its product.
(11i)A monopoly can earn unlimited profits.
a. (1) only
b. (ii) only
c. (1) and (ii)
d. (ii) and (ii1)
3. Since a major league baseball player makes more money than a private
preschool teacher we can conclude that :
a. society values the services of a major league baseball player more than the
ces of a private preschool teacher. :
| ¥ generates more tevenue in the economy than

a private preschool teacher.
c. labor markets are generally inefficient and Inequitable.
d. None of the above are correct.

4. The theory of consumer choice provides the foundation for understanding
a. the structure of a firm.
b. the profitability of a firm.
c. a firm’s product demand.
d. a firm’s product supply

5. An increase in income will cause a consumer’s budget constraint to
a. shift outward, parallel to its initial position,
b. shift inward, parallel to its initial position.
C. pivot around the "Y" axis.
d. pivot around the "X" axis.
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North Douglass said”...The economic

Since the end of Second World War

working at the non-agricultural sect.

or in the developing countries. Can you analyze
their economic behaviors? (30%)
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2. Bt g E TR RS RN EEIS G E - RREEL—RES S TR
5 (Koordinierung) | LAK "3&EEHE (Harmonisierung) | FIfE » 557 HIERIH Y -
(25%)

3. FRTEEIER LRERAERER o STEE LU THORE : 304))
(1)1971 FEBEASE 2758 SEIRBIA F 3 R ST Y% - (5%)
(Q)EBHTBIEE LMY R 7 SEHESE L EHENVBIES SRR LA B T
N - DR & NS BES B SH - (10%)
(B)XBIFTRIETHI & SRR A A TR IR & By 7 Bl ST T SRS
B BB SRSy IREE 2 R SR T R — I A
TREFERRAAE  ZHEBSH ESHRNEE AT ? (5%)
(AfarsE T —{EPE, R ? AR RS AR 2 (5%)
)M LRENECE FRECRER T—EPE  FRR (8, AR
IERYARH ? TAA AL S R T S S A e 2 - S AT e
B F RESR R M EREE ? SERET - (5%)

4 SRR AR B AR RS - R DU THIRIE : (20 4))

(RS EFTEENTA TEA A E BN R ? S
TP 6 B SR BRRE S48 © (10%)
HITEEMAN A A ? B EA BT S B RE S SR ? (5%)
GIAR RN EFER] - EE YA MU A B T S 2 (S
PEBCE RS TIT AU EENEE ? (5%)
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ORI E AR AR 2 (30 43)
2. (IERITBEE ? HedmkEafinpiassr? (2040

3R 86 FEITHIE T TR B S T THAS R A 1 A [ I A R T it |
FRS. TS )+ OO BT P Wik S » T A it 2 1B
MR T AMARRRER ) B TAYEME | ZRRNER? (254)

4. {5 P T 7 A T TR M AT B TR P St RO AC 0 © SR AR S © 2

HATBOER I - (25 23)




